
ශ්‍රී ජයවර්ධනපුර අ ජය්පයාපන ු ජයාපාපන ර 

Sri Jayawardenapura Education Zone 

්පයරු ජය ජයොපන  ු  ජයහතිා ජයපන ත්‍ර ජය(උහහ් ජයොපන ළ) විභාගර  ,  2222 

General Certificate of Education (Adv.Level) Examination , 2022 
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1.  2 11.  5 21.  4 31.  3 41.  4 

2.  4 12.  4 22.  5 32.  1 42.  3 

3.  5 13.  3 23.  4 33.  3 43.  2 

4.  2 14.  2 24.  5 34.  2 44.  2 

5.  5 15.  5 25.  4 35.  2 45.  3 

6.  1 16.  2 26.  3 36.  3 46.  3 

7.  5 17.  3 27.  3 37.  1 47.  1 

8.  1 18.  4 28.  4 38.  4 48.  4 

9.  4 19.  5 29.  3 39.  4 49.  5 

10.  4 20.  1 30.  3 40.  4 50.  3 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

ොෙ අතුරු තා ජයහන්නිොේදු ජයොක්ෂණර 



Part A 

1 )  )

 
 

 

 

 

 

 



2) 

 

3) 



 

 is a>0?  1 mark and for its ‘yes’ and ‘No’ Positioning 1 

mark

  

 is b>0?  1 mark and for its ‘yes’ and ‘No’ Positioning 1 mark 

 c = (a2 + b2)1/2  1 mark 

 

Convert the flowchart done in above part (i) in to a python code  

 

a = int(input("length of one side containing the right angle :")) 

while a<=0: 

     print ("Enter a positive value which is not a zero") 

     a = int(input("length of one side containing the right angle :")) 

b = int(input("length of other side containing the right angle :")) 

while b<=0: 

     print ("Enter a positive value which is not a zero") 

     b = int(input("length of other side containing the right angle :")) 

c = (a*a + b*b)**0.5 #c = (a**2 + b**2)**0.5 

print("Length of the diagonal is ",c)  

or any other suitable answer 

 

(5 marks) 

4)  

a) පහත ප්‍රතිදානයට අදාළ  HTML කේත ඛණ්ඩකේ හිස්තැන් සුදුසු පරිදි පුරවන්න. 

 

< ><h3>Subjects</h3></> 

<ol type = ‘a’ start = ‘4’> 

<li>ICT</li> 

<li>Physics</li> 

<li>Chemistry</li> 

</ol> 

 

b) පහත ප්‍රතිදානයන්ට අදාළ  HTML කේතය ලියන්න. 



i.  කවබ් පිටුව මත දර්ශනය වන “Open the Document” යන අධිසන්ධාන පාඨය මත click කළ විට 

“Course Details.html” කේඛනය නව කවුළුවකින්  දර්ශනය වීම 

 

<a href = “Course Details.html” target = “_blank”> Open the Document </a> 

 

ii. කවබ් පිටුකේ ඇති eschool.jpg යන ග්‍රාෆිකය මත click කල විට එම පිටුකේම 

https://www.Courses.eschool.gov.lk යන කවබ් අඩවිය විවෘත වීම 

 

<a href = “https://www.Courses.eschool.gov.lk” target = “_self”>  

<img src =  “eschool.jpg” /> </a> 

 

** Highlited part is optionalපහත PHP කේතකේ ප්රතිදානය කුමේ ද ? 

 

c) <?php 

$user = array("Shashika", "Rashika", "Sahan", "Nashira"); 

for ($x=0; $x < count($user); $x++) { 

if ($user[$x] == "Rashika") continue; 

printf ($user[$x]); 

} 

?> 

 

ShashikaSahanNashira 

 

  



Part B 

5)  

a.) 

P Q R P’ Q’ R’ P + Q’ + R P Q R’ (P + Q’+ R) +  
(P Q R’)  

P’Q’R  ((P + Q’+ R) + (P Q R)) + 
(P’Q’R))  

Z 

0 0 0 1 1 1 1 0 1 0 1 0 

0 0 1 1 1 0 0 0 0 1 1 0 

0 1 0 1 0 1 0 0 0 0 0 1 

0 1 1 1 0 0 1 0 1 0 1 0 

1 0 0 0 1 1 0 0 0 0 0 1 

1 0 1 0 1 0 1 0 1 0 1 0 

1 1 0 0 0 1 1 1 0 0 0 1 

1 1 1 0 0 0 0 0 0 0 0 1 

 

b.) 

 P’Q’ P’Q PQ PQ’ 

R’ 0 1 1 1 

R 0 0 1 0 

 

 

c.) SOP 

 P’Q’ P’Q PQ PQ’ 

R’ 0 1 1 1 

R 0 0 1 0 

 

Z= QR’ + PR’ + PQ 

  

PQ 
R 00 01 11 10 

0 

1 

PQ 
R 00 01 11 10 

0 

1 



 

d.) POS 

 PQ PQ’ P’Q’ P’Q 

R 0 1 1 1 

R’ 0 0 1 0 

 

Z= (P+R’) . (Q+R’) . (P+Q) 

 

e.) both circuits are suitable 

According to the simplified SOP and POS Boolean expressions, each needs 6 logic gates to 

implement the circuit(SOP – 3 AND, 2 NOT, 1 OR/ POS – 3 OR, 2 NOT, 1 AND). Therefore both can 

be used to implement the simplified circuit. 

 

(6) 

(a) Star topology   (1 Marks) 

 As no data collisions can occur 

 Can be done without disturbing entire network 

 If one cable or device fails then all the others will still continue to work         (1 Marks) 

(b) 

unit Network ID Broadcast ID Subnet mask No. of 
Nodes 

Usable IP 
Address Range 

Finance 192.248.16.0 192.248.16.63 255.255.255.192 64 192.248.16. 1 
192.248.16.62 

HR 192.248.16.64 192.248.16.79 255.255.255.240 16 192.248.16.65 
192.248.16.78 

IT Unit 192.248.16.80 192.248.16.111 255.255.255.224 32 192.248.16.81 
192.248.16.110 

Marketing 192.248.16.112 192.248.16.239 255.255.255.128 128 192.248.16.113 
192.248.16.238 

 

  

PQ 
R 00 01 11 10 

0 

1 



 

unit Network ID Broadcast ID Subnet mask No. of 
Nodes 

Usable IP 
Address Range 

Finance 192.248.16.0 192.248.16.63 255.255.255.192 64 192.248.16. 1 
192.248.16.62 

HR 192.248.16.64 192.248.16.95 255.255.255.224 32 192.248.16.65 
192.248.16.94 

IT Unit 192.248.16.96 192.248.16.127 255.255.255.224 32 192.248.16.97 
192.248.16.126 

Marketing 192.248.16.128 192.248.16.255 255.255.255.128 128 192.248.16.129 
192.248.16.254 

 

 Marks allocated as follows. 

6 marks for all 20 highlighted cells correct 

5 marks for maximum 16,17,18,19 highlighted cells correct  

4 marks for maximum 12,13,14,15 highlighted cells correct 

3 marks for maximum 8,9,10,11 highlighted cells correct 

2 marks for maximum 4,5,6, 7 highlighted cells correct 

1 marks for maximum 1,2,3, highlighted cells correct 

 

 

 

 

 

 

 



 

(c) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

1 Marks for each: 

A : Internet –Router- Firewall- IT switch link 

B: Connecting HR, Finance , and Marketing switches to the IT Switch 

C : Connecting Proxy and the DNS servers to the IT switch 

D: Connecting AIS, HRIS,LMS, and MKIS servers to Finance, HR, IT, unit and Marketing Switches 

respectively 

E: Connecting the computers to the Switches in each department. And  

Connecting the network printers , non - network printers 

 

(d)  Marks allocated as follows. 

           1010011   -   one bits 4 (1 Marks) 

 

        01010011       or    10100110   (1 Marks) 

 

                                            Parity Bit 

  



(7)  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 mark – system with correct symbol 

4 marks – 4 entities 

2 marks -  6 data flow or above  

(1 mark -other 4 or 5 data flow) 

3 marks- 3 data stores 

3 marks – at least 3 processes 

2 marks – correct data flows 



(8) 

 

 

 



 

 

 

9) a) 

(5 marks) 

(b) (i) 11 (2marks) 



(ii)  (2.5 marks) 

 This algorithm will take year, month and date as three inputs.  

 Add those values together and make a total.  

 Convert the total in to a string  

 separate numbers in the total value  

 add those numbers together and assign it to variable x to be used as output. 

(iii) Develop a python program to implement the above algorithm 

x = 0 
i = 0 
y = int(input("Enter Birth year : ")) 
m = int(input("Enter Birth Month : ")) 
d = int(input("Enter Birth Day : ")) 
total = y+m+d 
s = str(total) 
L = len(s) 
for i in str(total): 
    x = x + int(i) 
print ("your lucky number is : ",x) 
 
or any other suitable answer  (5.5 Marks) 

 

 

 

10)  

a) i) What is the relevant e-business type for receiving membership fee by PPA online?  

B2C 

ii) a) Name the revenue model and any other alternative revenue model use by this e-commerce site for the 

process mentioned in (i) above. 

Sales/ service revenue model, Advertising revenue model 

iii) a) The PPA has selected the “Payhere” as the payment gateway which required for online payment. 

What is the applicable e-business type between payment gateway and PPA?  

B2B 

(b) Name a revenue model used by the payment gateway for the process mentioned in (a) above. 

Transaction fee revenue model. 

iv) The PPA pays $270.00 per year, online to the web hosting company that hosts this e-commerce site. 

What is the relevant e-business type among PPA and web hosting company. 

B2B 

v) State an advantage and a disadvantage of computerizing the membership process for each of the 

following parties 

 Past Pupil Association  



o Advantage – Membership providing process become efficient, can analyze and utilize data 

efficiently, can generate essential reports easily 

o Disadvantage – Initial cost of establishment of the system, Annual hosting charges, System 

maintenance problems. System customization charges. 

 Past pupils who expect to get the membership  

o Advantages - Membership obtaining process become efficient, past pupils live in remote 

areas, other countries even able to get the membership. Can save their time. 

o Disadvantages – Unavailability of online payment methods. Lack of knowledge in online 

transactions etc. 

vi) Consider this statement in the description above “Verifies the validity of documents using artificial 

intelligence” State a method that can be provide artificial intelligence to this computer program that checks 

the validity of documents. 

Artificial Neural Networks 

 

b) 

 

 


